Type:
Part no.:

GRIT GIE

Item Part no.

10

20

30

33

36

40

50

60

70

80

90

100

110

120

130

140

150

160

170

180

190

210

220

230

39000000201

39000004735

39000000202

39000000672

39000000673

39000000204

39000000499

39000000203

39000005623

39000000661

39000000665

39000005826

39000000166

39000000676

39000000199

39000000207

39000000071

39000000194

39000000197

39000000196

39000000195

39000000664

39000000198

39000000192

79020709233

Designation
Housing GIE
Adjustment unit
Shaft

Set screw M8X25
Straight pin D8X36
Support GIE
Handle M10X120
Cover Burstengehause GIE
Eye guard

Plate
Adjustment unit
Handle

Nut

Fitting

Disc

Pipe

Circlip

Nut

Screw M10X65
Screw M10X40
Nut

Disc

Circlip

Screw

Quantity
1

1



Type:
Part no.:

Item

240

245

250

260

270

280

284

286

288

290

300

310

340

350

360

365

370

800

930

935

940

GRIT GIE

Part no.

39000000193

39000005654

39000000191

39000000460

39000000479

39000000491

39000001699

39000001563

39000004494

39000000211

39000000540

39000000541

39000001138

39000001139

39000000213

39000004495

39000000215

39000006100

43041040048

39000000720

39000000444

79020709233

Designation

Screw
Screw
Screw
Screw

Flap switch
Blade
Cover 3 KW
Flange B14
Service kit
Hood MA 90
Seal

Sheet metal screw

Screw

Screw

Switch

Cable with plug

Motor 3x230V50/60Hz

Sign

Fillister head screw

Nut

Screw M6X30

Quantity
4

2



Type: GRIT GIE
Part no.: 79020709233






